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QUESTION 1

Which two primary processes are used by Juniper devices for on-box or off-box automation? (Choose two)
A. mgd

B. ancpd

C.jsd

D. rpd

Correct Answer: BC

QUESTION 2

What is the purpose of an __init__.py file?

A. An __init__.py file initializes a Python application with default values for instantiated objects

B. An __init__.py file indicates to the Python interpreter that a directory contains Python packages or modules
C. __init__.py file sets all magic attributes with the __init__.prefix with the appropriate default values

D. An __init__.py file contains strings for additional directories that the Python interpreter adds to sys.path []

Correct Answer: B

QUESTION 3

You are asked to write an application that interacts directly with the internal APIs belonging to rpd. Which statement is
true in this scenario?

A. You must write the application using the XML APIs
B. You must write the application using the REST APlIs
C. You must write the application using the JET APIs
D. You must write the application using the YANG APIs

Correct Answer: C

QUESTION 4

Click the Exhibit button. Exhibit:
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import sys
from jnpr.junce import Devicse

from jopr.juncs.exception import ConnectError

dev — Device (hoot—"+MM-01', uocr—"bobk’, posaowd—"12347)

try:

dev.opcn ()
except <CHANGEME> as err:
print “Cannot connect to device: {}".format (err)

oyo.cxit (1)

print dev.facts

dev.close ()

Referring to the exhibit, what should be replaced with to correctly print out the exception message Cannot connect to
device?

A. RpcError

B. ConnectError
C. PermissionError
D. CommitError

Correct Answer: B

QUESTION 5

Which two statements are correct about JSON characteristics? (Choose two)
A. JSON is a supported template language

B. JSON is easy to read for humans and devices

C. JSON uses ## for comments
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D. JSON is programming language independent

Correct Answer: BD
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